
Design Arguments
Person P [in setting S] 
wants to achieve goal G but obstacles O1-N get in the way. 

Any solution also has to: 
satisfy constraints X1-N, 
minimize costs Y1-N, 
and avoid obstacles Z1-N.

Stakeholders + Domain 
Core tension

Need

Axioms As designers, we bring the following 
principles and constraints A1-N.

Our approach, ____________,  
has characteristics C1-N  

that help stakeholders achieve their 
goal G while avoiding obstacles O1-N .



Design Argument #1
Person P [in setting S] 
wants to achieve goal G but obstacles O1-N get in the way. 

Any solution also has to: 
satisfy constraints X1-N, 
minimize costs Y1-N, 
and avoid obstacles Z1-N.

Stakeholders + Domain 
Core tension

Need

Axioms As designers, we bring the following 
principles and constraints A1-N.

Our approach, ____________,  
has characteristics C1-N  

that help stakeholders achieve their 
goal G while avoiding obstacles O1-N.

How do you 
know?

How do existing 
approaches fail?

What characteristics have you 
borrowed from solutions that 

succeeded in analogous settings?

What differentiates your approach 
from previous solutions that failed?

Need Thesis

Approach Thesis

How have stakeholders responded 
to/been able to use your approach?

Evidence

Evidence

Evidence



Design Argument #2
Person P [in setting S] 
could achieve goal G if obstacles O1-N were removed. 

Any solution also has to: 
satisfy constraints X1-N, 
minimize costs Y1-N, 
and avoid obstacles Z1-N.

Stakeholders + Domain 
Core tension

Need

Axioms As designers, we bring the following 
principles and constraints A1-N.

Our approach, ____________,  
has characteristics C1-N  

removes obstacles O1-N so that 
stakeholders can achieve goal G.

How do you 
know?

How do existing 
approaches fail?

What characteristics have you 
borrowed from solutions that 

succeeded in analogous settings?

What differentiates your approach 
from previous solutions that failed?

Need Thesis

Approach Thesis

How have stakeholders responded 
to/been able to use your approach?

Evidence

Evidence

Evidence




